- —

Brie indochuchion ot voriadioual  medhacls

Stren gfhc eon  Cafewlade Grouncl- shate  ewcrg y
bor systewm  widliout  kmown - poludion
Wealknesst weed — a 3@06/ guats | fer  dee
?m;ngf— sdade wawe - fun edon [ 0'>
Then we can calculate

/ ~ N
* B H
H T <O [HI0>
anel > Ee (thaorem )

‘ \ (oo
Thon e W e el

i @
10>= k> ¢hidd
k=o

o'

A 2 E?K\&Oetklo) >Ez <105 = E, 105

=o

. Ay 7 beune/
<omm> Eod010) f’“c;mm, Y

&63:4 m"g/y
Aso, IQ\M s a‘;;; 3@00‘ aﬂpmf&mﬂm /€
for (0> 105w QB> f{H=0 slable
In praedice X0 = -f(x‘) Ay ) a
then  we et wminimize  H o with
Vapeet  d  dba parqusders A

9..}_'.' = 9’7

X iy =0




_-2-—

Fundoweni ol Vwitedion: even a  vedlur poor

deled  buwelon  can  yelld o close upper bouuel
on  dlee eao(oeﬂw-ewhn/., dedermlned a'rwucd cdecte

eneryy

010> =L RIE> = £ :

AB>= vove Sk > ek ik Lo lkP20 |
ZBUANEY = (Lo S ki) (Yoo S1k>) =

= LoWH10Y + Sk lgy 50\ RS * 2 ZKitlk>

V- 24 1; . = ] ™~
ey ST Q- «
- 0

BIHE>= N = Bor 82 emlkS

L

s ' P =
EO\TAH Y A _\ufu_ M}y

exdlwade

The Qiret-order  error ‘un dle  trled

wove  Lunedion \eacle dv e geconof— i

—order error  tu dlbe eadluwaod eol

ground - sdake enargy




-'3*“

Eeample § & esbinode  dle %mumqo gdete eueryy

of o 1D 'Vf%}o‘ \aox

ye 3 0 Ixiea We kwow  exect  soludi,
Loo  1x[>a Bz poa

()’\\8> = 6\—)(?' .
e B - a2
B\ Y = {B) S0 - (- 50, ) )(a-;n)cj\;, (a%x?) dx
G —o
510> =\ tas ey ax
" — O
ZBAMHNED w [ W\ L .o \3% ercor
- = — — — LOto2 &
Eo €R= T 2\ gwa? | ’
Belter 4ried -guuc&-\au
X8 = g\ - (k)2
PNEY VN A LB\
H = 3™ \ l hhu )
VA4Sl | VR e o
i 3 Y I
N T
Vb e %W\“’\ - 7
i veirvel L g ==

€
- /
E.Q é- Hm‘ah = L

: \
w; /} E¢ QJOOB E% O,a% ernvow

How 20»009 18 our gwm«»i wowe - dunebion !
E;M;,.._ = <8\Wm*\5> = "f \(k\B)\i B = \(o\'éﬂaeu +

aa 5,
* s Kuorlm By » \0VOVE, + By (1= [€I8")

=\ M g do EGLH{‘;,

= zd—ee—%u
|<olo>] =2 - = 0,99963

o0
)
s




__.l_[.-—

4 3 hafx?
Examp\e J1 Potembied V)= ?}_’f_ 4 Na x _ haTx

4 Zf 8

ay Find the globe)  wminiwuw  xg

8y  Egdiwede dha gronnd - state ene g v

IENTICY e \fwf‘tﬁﬁowa,\ metlod  and  dhe trall

@u\/\cén‘ah Wilx) =1 Bj . grx-xa‘/;_

‘-"\-J \1/n-v _e)

Here  we wil  dale %= B /mat

Seludion : Vi =0 o L% ':l.af:’f‘- '\:;‘ a* ) =o
A =0 =% wax .
R, = q/q Vr) = _Yg—:‘; aal \oeal min
= — A Vi) — %o %ot | %'lo bal  winy
ki AtvraN"/
Teio) wowe fumedi on’ W) = j\\ /n e ' T

- . o, (wolwaliz ed )
Ho= <Piniyy = &) ,-; ty > -
2 5 5 (.
R T L 50\2"‘ (\ _L \ ( z ¥ t\aak -2 ) 1
IRAL I / =
\ o =~ .
Jor A= 1 awd 1|50.2:.- z

fAL Nl -
9 maz ).\-. «-2_-?—3
— - i
H=g—a ' p = 108 ErtD) ;
AW(AM esh wmoke —s ’lﬂfu‘ WLO W, ¢ expa gy O S QIaw, nf j
X,= - QL Vix) & — 22 4 502 (x-a) 5(3-5‘)‘ i
w = —\LT(-T.*;. ): 2:1 Mma™ Jﬂ.r')\z e
. B 42\ [ 4

W , \
o 30 =G (Fe ) = ()




t%&mcﬁ_m

-
o - f"j_ihﬁ,m = example ol o wp- eluodron
- - _ _ &yolem
e e —
- RO M 1 W—
# Experl weewdally Vg CukeLr eel gronuel  gete enargy
— Eowh = - q—g g e\/
m Now - sbllwm cally Sy mucedp! o po‘%em}m,l
o omabfﬁoool golutoun
Growd  slatet ({3, bodh clichom Wik fs0
o spin  singlet  stele
B where tl‘J& (r) 18 a s\vxg_-t— w& -Wa»m‘um‘()gm_”
- 3 )
qgrmnd = --?-‘ e ethrof L = ((f>N/> b f)) :
has ) )
uglebt elecdron - eleccron —

- 108, 8eV/ o /W

Ea*'?" l{(—'




—f -~

k

i,

el

WD ol d
&




